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Test Questions 1 Test Assignment

Question 1   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

MCQ (5 x 2 marks) 

For each question, four options are given. One of them is the correct answer. Make your choice
and write its correct answer A, B, C or D in the space provided. Each question carries 2 marks.


50 000 + ______ + 5 = 55 005

A) 5

B) 50

C) 500

D) 5000

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,499

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 2   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

MCQ (5 x 2 marks) 

For each question, four options are given. One of them is the correct answer. Make your choice
and write its correct answer A, B, C or D in the space provided. Each question carries 2 marks.


______ is a common factor of 14 and 35.

A) 7

B) 2

C) 14
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D) 35

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,514

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 3   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

MCQ (5 x 2 marks) 

For each question, four options are given. One of them is the correct answer. Make your choice
and write its correct answer A, B, C or D in the space provided. Each question carries 2 marks.


Pamela sets her alarm clock to ring at ______ in the morning.


A) 4 minutes to 7

B) 20 minutes to 7

C) 4 minutes past 6

D) 20 minutes past 6

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,535

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 4   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

MCQ (5 x 2 marks) 

For each question, four options are given. One of them is the correct answer. Make your choice
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and write its correct answer A, B, C or D in the space provided. Each question carries 2 marks.


The table below shows the number of students living in flats with different number of rooms. 


Number of rooms in a flat 2 rooms 3 rooms 4 rooms 5 rooms

Number of students 27 86 153 94

_______ students live in HDB flats with less than 4 rooms.

A) 27

B) 86

C) 113

D) 266

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,573

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 5   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

MCQ (5 x 2 marks) 

For each question, four options are given. One of them is the correct answer. Make your choice
and write its correct answer A, B, C or D in the space provided. Each question carries 2 marks.


The table below shows the number of students going on a learning journey.

Class Total number of students Number of students present

4A 38 37

4B 40 40

4C 40 38

4D 41 36

How many students did not attend the learning journey?

A) 8

B) 151

C) 159

D) 4

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,619

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 6   Primary 4 Maths » Primary 4 Maths (Term 1) 1 pt
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For each question, show your workings clearly in the space below each question and write your
answer in the spaces provided. 


Write nineteen thousand and four in numerals. 

Accepted answers:

19004

19 004

19,004

19, 004

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,640

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 7   Primary 4 Maths » Primary 4 Maths (Term 1) 1 pt

List down all the factors of 10.

Accepted answers:

1,2,5 and 10

1, 2, 5 and 10

1 , 2 , 5 and 10

1, 2, 5, 10

1 2 5 10

1 2 5 and 10

1 , 2 , 5 , 10

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,670

 Answers
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 |  Reorder Remove From Test

Question 8   Primary 4 Maths » Primary 4 Maths (Term 1) 1 pt

State the time shown on the clock. 
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Accepted answers:

1.28pm

1.28 pm

1:28PM

1:28 PM

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,722

 Answers
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Question 9   Primary 4 Maths » Primary 4 Maths (Term 1) 1 pt
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The graph below shows the growth of a Rain Tree at the Botanic Gardens in the last 5 years. 


What was the height of the Rain Tree in 2013?

Accepted answers:

130cm

130 cm

130

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: Tue 25th Aug 2020
QID#: 22,961,759

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 10   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

The graph below shows the growth of a Rain Tree at the Botanic Gardens in the last 5 years. 


How much did the Rain Tree grow from 2014 to 2015?
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Accepted answers:

80 cm

80cm

80

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: Tue 25th Aug 2020
QID#: 22,961,796

 Answers
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Question 11   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

The first two common multiples of 4 and 6 is _______. 

Accepted answers:

12 and 24

12, 24

12 24

12 , 24

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: Tue 11th Aug 2020
QID#: 22,961,805

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 12   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Find the sum of 297 and 415. Round the answer to the nearest ten. 

Accepted answers:

710

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,889

 Answers
 |  Edit  |  Duplicate  |  Used In
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Question 13   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

5500 / 8 = ______
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Accepted answers:

687 R4

687 remainder 4

687 , R4

687 , R 4

687 R 4

687, R4

687, R 4

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,961,996

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 14   Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Mr Mano bought 300 kg of flour for his prata stall. 

In one trip, his trolley can carry 9 kg of flour. 

How many trips will it take for him to carry all the flour to his stall?

Accepted answers:

34

34 trips

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,962,077

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 15   Primary 4 Maths » Primary 4 Maths (Term 1) 4 pts

(4 x 4 marks)

Read the following questions carefully. Show your workings and write your answer clearly in
the space provided for each question.


Farah had some erasers. She gave 204 erasers to each of her 2 friends and had 176 erasers left. How
many erasers did Farah have at first?

Accepted answers:

584

584 erasers

Farah had 584 erasers at first.
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Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,962,116

Correctly answered feedback
Gave = 204 x 2 = 408

At first = 408 + 176 = 584

Farah had 584 erasers at first.

Incorrectly answered feedback
Gave = 204 x 2 = 408

At first = 408 + 176 = 584

Farah had 584 erasers at first.

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 16   Primary 4 Maths » Primary 4 Maths (Term 1) 4 pts

Xavier, Yavin and Zachary share $297.

Yavin has twice as much money as Xavier.

Zachary has three times as much money as Yavin.

How much money does Zachary have?

Accepted answers:

$198

Zachary has $198.

198

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: Tue 25th Aug 2020
QID#: 22,962,167

Correctly answered feedback
9u = $297

1u = $297 / 9 = $33

Zachary = $33 x 6 = $198

Zachary has $198.

Incorrectly answered feedback
9u = $297

1u = $297 / 9 = $33

Zachary = $33 x 6 = $198

Zachary has $198.

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 17   Primary 4 Maths » Primary 4 Maths (Term 1) 4 pts

The cost of 4 pillows and 3 bolsters is $217.

A pillow costs $14 lesser than a bolster.

What is the cost of 1 pillow?

Accepted answers:
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$25

The cost of 1 pillow is $25.

25

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: Tue 25th Aug 2020
QID#: 22,962,189

Correctly answered feedback
Extra = $14 x 3 = $42

7u = $217 - $42 = $175

1u = $175 / 7 = $25

The cost of 1 pillow is $25.

Incorrectly answered feedback
Extra = $14 x 3 = $42

7u = $217 - $42 = $175

1u = $175 / 7 = $25

The cost of 1 pillow is $25.

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 18   Primary 4 Maths » Primary 4 Maths (Term 1) 4 pts

Mr Wijaya bought a packet of chocolates for his class.

The number of chocolates in the packets is more than 35 but fewer than 50.

The chocolates can be shared among 3, 6 or 7 students equally without any remainder. How many
chocolates are there in the packet?

Accepted answers:

42

42 chocolates

There are 42 chocolates in each packet.

Question Type: Free Text
Date Added: Tue 11th Aug 2020
Last Modified: N/A
QID#: 22,962,247

Correctly answered feedback

Multiples of 3 36 39 (42) 45 48

Multiples of 6 36 (42) 48

Multiples of 7 35 (42) 49

There are 42 chocolates in each packet.

 Answers
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